Multiply and Divide by Positive Powers of Ten (H)

Find each product or quotient.

64 x 1,000 = 70 X 10 =
12 x 100 = 29 x 100 =
64 x 100 = 15+ 10 =
56 =~ 1,000 = 11 X 1,000 =
47 +- 100 = 68 X 10 =
1x10= 17 X 10 =
21 +1,000 = 29 x 100 =
55+ 1,000 = 57 +100 =
50 +100 = 24 +-10 =
87 + 10 = 80 x 100 =
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1ltiply and Divide by Positive Powers of Ten (H) Answe

Find each product or quotient.

64 x 1,000 = 64,000 70 x 10 =700

12 x 100 = 1,200 29 x 100 = 2,900
64 x 100 = 6,400 15+10=1.5

56 =+ 1,000 = 0.056 11 x 1,000 =11,000
47 +-100=0.47 68 X 10 =680
1x10=10 17 x10=170

21 +1,000=0.021 29 x 100 = 2,900
55+ 1,000 = 0.055 57 +100 =0.57

50 +100=0.5 24+10=24

87 +10=8.7 80 x 100 = 8,000
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